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ALGEBRA II

. If x<-2 then |-x-2] is:

a) x+2 b) x-2 c) -X+2 d)y -x-2 e) O

. IE f(x) = x> + x and g(x) = x-1 then g(f(3)) is:

a) 6 by 11 c) 12 d)y 24 e) 14

. When simplified logb8~é-logbl becomes:

8
a) 1 b) 0 ¢) log64 d) -1 e) log, 63
8
If tan 6 = 1 and sec @ = 2, then sin? © - cos? & =

a) 1 b)Y 1/2 &) 0 ) 2N7 e) 247

a =m, and if m # o then r =

-t b az—mt c) a2~t d) a2+mt e) a2m—t

m m m

. If x2+y2=25 and xz—y2=7 then xl’-y4 is:
a) 7 b) 14 c) 49 d) 175 e) 337

. Which of the following numbers is a root of (x2—2x)2 + 2(x2-2x)=3:

a) 1+2¢ by 2 c) 1+v2  d) 1-2i e) -2




. One of the values of k for which 2-2 0
k ik 1-2] = -8 is
0-3 k
a) 2 by 1 c) 1 dy 0 e) -2

4i in the form a+bi is:

a) -12+48i b) 12i-8 c¢) 12+48i d) 12-8i e) -12-8i
13 13 13 13 13

. The solution set written as intervals that satisfies both |x-3| 6 and
|x+2]<5 is:

a)y (-7,-3) by (-3,9]1 ¢ (3,91 d) (-7,91 e) [-3,3)

. Find the fourth term of the recursively defined sequence with a, =7 and
ak+1_3k+ak, for any positive integer k.

a) 37 b) 16 c) 51 d) 25 e) 57

- In an arithmetic sequence, if the eighth term is 10 and the fifteenth
term is 23, find the third term.

a) -3 b) 13 ¢ S d) 75 e) =34
7 7 14 7

If £{(x) = 3x + 5, then the inverse,f—l(x) =

a) =3x -5 b) x-35 c) 1 d) x4 1 e) x
3 3% + 5 30 3 -

. The minimum value of x2-3x-4 is:

a) -4 b) _1% c) —6% d) % e) -13
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- Solve the inequality and give the solution in interval notation:

5 3
2x+1 b3 x-2

a) (-e9, -131u<_,21_, 2) by [-13, _,%JUILOO)

c)  (-oo, -13}L;[;%, 2} d) [-13, _%)(J(Z,OO)

e) (-9o, -13)U[_,21;, ?-J

. If 9%*2 & 24049%, then x =

a) 0.1 b) 0.2 ¢) 0.3 d) 0.4 e) 0.5

- If x+y=1, then the largest value of xy is:

a) 1 b) 0.5 ¢) /2-1 d) 0.25 e) 0
a~lp-1 a) a’b® by a’® )  ab
2 3p-3 b2 22 b3 43 p3_43
d) a3-b3 e) a3—b3
ab a-b

- The sum of two numbers is 10; their product is 20. The sum of their
reciprocals is:

by 1 c) 1 dy 2 e} 4

a) 1
10 2

If xy = b, and 1 4+ 1 = a, then (x + y)2=

a) (as2b)2 b)) 2%l o) babs2) d) ab(b+2) e) 1 + 2b
a



21. The arithmetic mean of the first n positive integers is:
a) n b) .n° <) n d) n-1 ) mil
2 2 2 2
22. The number 2.52525... can be written as a fraction. WVhen this fraction
is reduced to lowest terms, the sum of the numerator and denominator
is:
a) 7 by 29 c) 141 d) 257 e) 349
- 2, . 8 .,
23. The coefficient of ¢ in the expansion of (vec + d)° is
a) 28 b} 56 c) 64 d) 70 e) 256
24. A circle has center C(-3,1) and passes through the point P(7,5). The
radius of the circle is:
a) 10 b) 14 ) V58 d) 2v26 e) 229
25. The line X contains the point (_l _g)qand is parallel to the line with
273
equation ~2x + y _ . The y- intercept of A is:
5
a) 13 by 13 ) 5 d) 14 e) -17
15 3 13 3
26. The number of real solutions of the equation V3x-2 - V2x-3 = 1 is:
a) 0 by 1 c) 2 d) 3 e) 4
27. The solution set for the equation 2 logs(x+3) - logs(x+1) = 2 log53 is:

a) empty b) {0,3} c) (1,3} d) ({0} e) {3}



28.

29.

30.

31.

32.

33.

34.

ALGEBRA 1T

If a, b, and ¢ are numbers .for which x%+10x-36 _a__b ;S
X e} ~132
x(x—3)2 x (x-3)
then a + b + ¢ =
a)y 2 b) 3 c) 10 d) -36 e) 8

Vhich of the following cannot be a rational root of the equation

2x4 - 16x3 + 36x2 - 8x +17 =0 ?
ay 17 b) 17 c) 2 dy -17 e) 1
2 2

The graphs of the equations x2 + y2 = 25 and x2 = 25 intersect in:
4) no points b) exactly one point ¢) exactly two points

d) exactly three points - e) exactly four points

The letters of the acronym TMTA can be arranged in how many distinct
wvays?

a)y & by 4 ¢y 4! d) 4

—

e) 212!

N[;

The slope of the perpendicular bisector of the line segment joining the
points (3,2) and (6;2) is:

a) -4 b) c) d) e)

4 3
3 4

[SST -
ENY V]

-3
A

If x-3 is a factor of x° + px + 12, vhat is the value of p?
a) -7 b) -1 c) 1 dy 7 e) 9
If x* - y4 = 45 and x° - y2 = 5, then x2 + y2 =

a) 15 b) 9 c) 10 d) 40 e) 50



[
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36.

37,

38.

39,

‘Assuming that girl-boy births are equiprobable, find the probability

that a family with 9 children has at least one girl.

a) 511 by I c) 255 dy 127 e) 1
512 2 756 128 512

An airplane, flying with a tail wind, travels 1200 miles in 5 hours;
the return trip, against the wind, takes 6 hours. Find the cruising
speed of the plane and the speed of the wind (assume that both are

constant).

a) 220 wmph, 20 mph b} 220 mph, 40 mph ¢) 230 mph, 20 mph

d) 230 mph, 40 mph e) 240 mph, 20 mph

Find a polynomial with real coefficients of degree 4 that has zeros 2,
-2, and-2 4 3i.
4

a) x4 - éxa + 17x2 - 16x + 52 by =x" «+ 4x3 + 9x2 - 16x - 52
) % - ax® v o 16x - 52 d) xb e 4xd 4 17%2 4 L6x + 52
@) xa‘ - 4x? - 17x2 ~16x - 52

Viax-1

x2 - 10% + 24

Find the domain of f(x) = Write your answer in interval

notation.
a) {;, 4 U (4, 6) U (6, ¢ ) b) [;, 0o )
4 4
¢) (=eo, 4) U (4, 6) U (6, o) d) (-, _1_] U (4, 6) U (6,00)
A

O) (....qo’ "“]‘ I fo =]

The sum of the coordinates of the midpoint of the line segment joining
the points P(1,5) and Q(&’ wg) is:
5 3
a) -28 b) 4 ¢) 29 d) 31 e) 61
15 15 15 15 30

4]



40.

0

ALGEBRA II

If the figure above shows the graph of the equation y = ax2 + bx + ¢,
then which of the following can be concluded about the roots of this

equation for y = 07

I,
II.
III.
Iv.

a)

e)

They are
They are
They are
They are

III only

I, II, and

positive.
equal.

real.

imaginary.

b)

III

IV only

c)

I and III only

d)

II and IV only













